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THREE YEAR B.A./B.Sc. DEGREE EXAMINATION, AUGUST -2021
CHOICE BASED CREDIT SYSTEM
FIRST SEMESTER
PART - 11 : MATHEMATICS
Paper - 1 : Differentia] Equations
(Under CBCS New Regulation W.e.f. the academic year 2020-21)

Time : 3 Hours Max. Marks : 75

SECTION-A

JgrHo - @
Answer any Five of the following questions. Each question carries 5 marks.  (5%5=25)
BT 0t (HEHYB DEPEESEDED (FPcHos, 8 ©HB 5 SeEpen,

w:

dy x
1. Solve E‘f‘ 2xy=e" | )

dy k2
T2 =e" & Fgosol.
ax y 1

2. Solve ydx—xdy+logxdx=0. 5)
ydx — xdy + log x dx = 05 oS0k, '

3. Solve x*(y— px)=p2y. ' 5)
2 (y—px) = p’ Y FBoSok,

4. Find the particular value of — 1 2¢ 5

(D=2)p-3)
I

2 0% ($8 $8rEend
(5=2(0=3) e 2 B85 G580 EHREol.
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} 5. Solve (D2 AL 4)y = sin 2ot | : (5)

Gl ( et 4) y ="siﬁ 2x % oS,

6.  Soive (D2 5D 1) Vexer i - ' 5)

2
(p*-2p 4 1)y =x"¢" © Foos.

7. Solve (D?—4)y=x. | ®

(D2 o 4)}’ = 5B FHOBE.

8. Solve

(5+2x)° D = 6(5+2x) D+ 8y =0. 5)

|(5+2x) D? — 6(5+2x)D+8|y =0 1 oot

SECTION - B A

Answer All the questions. Each question carries Ten marks. (5%10=50)
e o) (B BHpredsines [FPcindn. (@S (@& 10 Sedpen.

9% a) Solve (x2+y2+2x)dx+2ya§/=0. - (10) ’
E (x2+y2+2x)dx+2y dy =0 & FBoSob.
: (OR/Bw)
sin~!x dx 2)
b) Solve|y—e ;,;+V1"—x =0,|x|<1. _ , (10)

Ml e
(y—eS'“ ")d—y+ 1-x% =0,|x|<1 % Bovob.

10. a) Solve y2 logy = xpy + p2 ; | | - (10)
y2 logy= xpy + p2 D FPHoBR. '

| (OR/Bwr) - i 4

b) Solvey+ px = p*x*. ' '

y+ px = p°x* % dBowod,
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11. a)

b)

12. a)

b)

13. a)

b)

d2
Solve ?dx/-+4y =¢" +sin2x +cos2x.

1 .
d’y +4y =¢" +5in2x+cos2x % BB’
i’

(OR/am‘)

Solve (D2 —3D+ 2))’ =coshx?

(D2 L efpt 2) y = coshx FBotol,

202x

Solve (D 2= 4D+ 4)y 8x“e”" sin2x.

(D2 —4D+ 4)y —8x%e** sin2x % BNl

(OR/E)
d2 dy 3gte
————6 +13y =8¢ sin2x

Solve dx 7 y
f] 1 dy

Zx_z_—é—czx—+l3y 8> sin2x % JBoSol.

Solve (D2 = 2D) y = ¢€” sinx by the method of variation of parameters.

oo Sy T50R asarhod (D —2D)y =e*sinx & Phosod

(OR/Ee»)
) o
Solve X ?J;Z‘_Bde-FSy:x Sm(Ing).

d? dy
xz_d_x_;j_j,xdx +5y x sm(logx) % dBOoSO..

1-1-112-R20 _ 3)

(10)

(10)

(10).

10)

(10)

(10)





{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

